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000000 1: test_-LOBPCG.f90

:/, ,This, ,is, ,the, ,sample, ,code, ,for, ,LOBPCG
L1, Yuki, ,Nagai,,, ,Ph,., ,D

1

2

3 )

4,1 ,10/10/2014, ,(,dd,/,;mm,/,yyyy,)
5 !, ,This, ,program, ,needs, ,LAPACK
6
7
8

module LOBPCG
9 contains

11 subroutine calcLOBPCG(n,sub_Ax,md,x,lam,eps)

12 implicit none

13 interface

14 subroutine sub_Ax(n,x,Ax)
15 integer,intent(in)::n

16 real(8),intent(in)::x(1:n)



real(8),intent(out)::Ax(1:n)

end subroutine sub_Ax
end interface
integer,intent(in)::n,md
real(8),intent(out)::lam(1:md)
real(8),intent(out)::x(1:m,1:md)
real(8),intent(in)::eps
real(8):xtemp(1:n,1:md),r(1:n,1:md),p(1:n,1:md)
(8)::xhx(1:md,1:md),v(1:3*md,1:3%md)
(8):
real(8):d
integer::i,j,ii,jj,ite,itemax,nz

real(8)::reps(1:md),norm

itemax = 100000%2

;EPS, =, 7]7(1776

call random_number(x)
call gram _real(n,md,x,xtemp)

do ii = 1,md
call sub_Ax(n,xtemp(1:n,ii),x(1:n,ii)) ,/z, ,=, ,A, ,ztemp
end do

xhx = matmul(transpose(xtemp),x)
call eigensystem_real(xhx,lam,v(1:md,1:md),md)

x = matmul(xtemp,v(1:md,1:md))
r = 0d0
do ii = 1,md
r(1:n,ii) = x(1:n,ii)*lam(ii)
end do

L Jwrite, (%), sum, (,abs,(,r,))

do ii = 1,m
call sub_Ax(n,x(1:n,ii),xtemp(1:n,ii)) ,/ ztemp, ,=, ,A, ,x
end do
r = xtemp —r
p = 0d0

loopite: do ite = 1,itemax
z(1:n,1:md) = x(1:n,1:md)
z(1:n,14md:2+md) = r(1:n,1:md)
z(1:n,14+-2xmd:3*md) = p(1:n,1l:md)
ztemp = z

7',7 77’-ﬁ('2t67 7::7 /‘17 7'7OT7'7 ?m0d7(77:te77]0)/‘ 7::0)7 7then’
'/f Py 5= ~07d0

if(ite == 1) then
nz = mdx2
else
nz = mdx3
end if
call gram real(n,nz,z(1:n,1:nz),ztemp(1:n,1:nz))

doii = 1,nz
call sub_Ax(n,ztemp(1:n,ii),z(1:n,ii)) ,/ 2z, ,=, ,A, ,ztemp
end do
zhz(1:nz,1:nz) = matmul(transpose(ztemp(1:n,1:nz)),z(1:n,1:nz))
call eigensystem_real(zhz(1:nz,1:nz),zlam(1:nz),zv(1:nz,1:nz),nz

v = zv(1lnz,1:md)
lam(1:md) = zlam(1:md)
x(1:n,1:md) = matmul(ztemp(1:n,1:nz),zv(1l:nz,1:md))
r = 0d0
do ii = 1,md
r(lin,ii) = x(1:n,ii)*lam(ii)
end do
do ii = 1,md
call sub_Ax(n,x(1:n,ii),xtemp(l:n,ii)) ,/,ztemp, ,=, ,A, ,x
end do
r = xtemp —r
do i = 1,md
reps(ii) = sqrt(sum(abs(r(1:n,ii))**2))
end do
if(eps > maxval(reps)) then

:z(1:n,1:3*xmd),ztemp(1:n,1:3+«md),zhz(1:3*md,1:3¥md),zlam(1:3+xmd),zv(1:3+md,1:3*md)
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write(x,*) ite,maxval(reps)
do ii = 1,md
norm = sqrt(sum (abs(x(1:n,ii))**2))
x(1:n,ii) = x(1:n,ii)/norm
end do
exit loopite
end if
if(mod(ite,1000)==0) write(x,x) ite,maxval(reps)
if(ite == 1) then
p(1:n,1:md) =matmul(r(1:n,1:md),v(14md:2*md,1:md))
else
p(1:n,1:md) =matmul(r(1:n,1:md),v(14+md:2xmd,1:md))+matmul(p(1:n,1:md),v(1+2+md:3+md,1:
md
end if 2
end do loopite
return
end subroutine calcLOBPCG

subroutine eigensystem _real(mat_h,lam,p,nb)
implicit none
integer,intent(in)::nb
real(8),intent(in)::mat_h(1:nb,1:nb)
real(8),intent(out)::lam(1:nb)
real(8),intent(out)::p(1:nb,1:nb)
integer::lwork
integer info
real(8):: work(nbx*4)

Iwork = nbx*4
p = mat_h
call dsyev(’V’,’U’ nb,p,nb,lam,work,lwork,info)

return
end subroutine eigensystem _real

subroutine gram real(m,n,mat_v,mat_v_out)
implicit none
integer,intent(in)::m,n
real(8),intent(in)::mat_v(1:m,1:n)
real(8),intent(out)::mat_v_out(1:m,1:n)
integer::i,j
real(8)::v(1:m),nai,vi(1:m),viold(1:m)
real(8)::norm
mat_v_out = mat_v

doi=1n
viold = mat_v_out(:,i)
doj=1i-1

nai = dot_product(mat_v_out(1:m,j),viold(1:m))
vi = viold — naixmat_v_out(:,j)
viold = vi
end do
norm = sqrt(dble(dot_product(viold,viold)))
mat_v_out(:,j) = viold/norm
end do
return
end subroutine gram real

end module LOBPCG

program main
use LOBPCG,only:calcLOBPCG,eigensystem_real
implicit none
integer,parameter::n = 10000
integer,parameter::md=1
real(8)::x(1:n,1:md),lam(1:md)
real(8),allocatable::A(:,:),lamA(:),p(:,:)
integer::i,j
real(8)::eps
integer t1, t2, t_rate, t_max, diff
external testsubAx
eps = 1d—6

call system_clock(t1)
call calcLOBPCG(n,testsubAx,md,x,lam,eps)



164  call system_clock(t2, t_rate, t-max)
165  if (t2 < t1 ) then

166 diff = t_max — t1 + t2
167 else

168 diff = t2 — t1

169 endif

170 write(x,*) "LOBPCG",diff/dble(t_rate)," [s]"
171 doi=1md

172 write(x,x) ilam(i)
173  end do
174

175  allocate(A(1:n,1:n))
176  allocate(lamA(1:mn),p(1:n,1:n))

177 A =0d0

178 doi=1n

179 j=i

180 A(i,j) =0d0%2d0

181 j=1i-1

182 if(j >=1) A(i,j) = 1d0
183 j=1+1

184 if(j <=n) A(i,j) = 1d0
185 end do

186

187 call system_clock(t1)

188 call eigensystem_real(A,JamA p,n)

189  call system_clock(t2, t_rate, t_max)

190 if (t2 < t1) then

191 diff = t_max — t1 + t2

192  else

193 diff = t2 — t1

194  endif

195 write(x,x) "LAPACK" diff/dble(t_rate)," [s]"

196

197 doi= 1,md

198 write(x,*) lam(i),lamA (i)
199  end do

200

201 end program main

202

203 subroutine testsubAx(n,x,Ax)
204  implicit none

205  integer,intent(in):n

206  real(8),intent(in)::x(1:n)
207 real(8),intent(out)::Ax(1:n)
208  integer::i,j

209  Ax = 0d0

210 doi=1n

211 j=1i
212 Ax(i) = Ax(i) + 0d0*2d0s*x(j)

213 j=1i-1

214 if(j >=1) Ax(i) = Ax(i) + 1d0*x(j)
215 j=1i+1

216 if(j <=n) Ax(i) = Ax(i) + 1d0=x(j)
217  end do

218

219 return
220 end subroutine testsubAx
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